Apartment in Xghajra



Reference No: 240251096-283

Xghajra, South



€295,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m²): 81

Bedrooms: 3

Apartment - For Sale - Xghajra

An opportunity to acquire a brightly lit SEA VIEW apartment. The layout consists of a spacious open plan kitchen/living/dining, a guest bathroom, three bedrooms (main with ensuite), a back and a front balcony. The apartment is fully air-conditioned, has underfloor heating and will be sold fully furnished. It also enjoys part ownership of the roof. Call your Remax agent now.

Features

✓ Lift

Electricity Utility

Roof Terrace

✓ Water Utility

Balcony

Satellite / TV/ Cable

Rooms

Kitchen: 4.14 x 3.08 m (12.75 m2)

Living: 5.26 x 3.05 m (16.04 m2)

Single Bedroom: 3.32 x 3.07 m (10.19 m2)

✓ Double Bedroom : 4 x 3.19 m (12.76 m2)

Single Bedroom : 3.27 x 2.68 m (8.76 m2)

✓ Bathroom : 2.45 x 2 m (4.9 m2)

Open Space : 6.26 x 0.5 m (3.13 m2)

Open Space : 6.26 x 0.5 m (3.13 m2)

Open Space : 2.1 x 1.47 m (3.09 m2)

Gallery























Clive Pollacco RE/MAX Advantage - Msida

M: 79486346

E: clivep@remax.com.mt

T: 21222123

RE/MAX Advantage - Msida Regional Business Centre, Triq Achille Ferris, Msida, Malta